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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
o ePpTyRd T i

(a) What is international trade?

B e 2

(p) What is inter-regional trade?
S e 1 2
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(2)

(3)
(c) Write one assumption of Ricardian . . . _
theory of comparative cost. ' 2. Answer the following questions : | 2x5=10
RIH SIS I8 ©TT <51 U o | , weTo Al TR e fud :

(d) Mention one éssential element of
Heckscher-Ohlin theory of inter-

; {a) Mention two differences between inter-
national trade. i

regional and international trade.

(PR-WFR TRAER Iw IoR Bl | SR S SISAZY I 71 s Seary
RGP T for | - Lol
() What is Leontief paradox? - - (b) Write two assumptions of Heckscher-
frefowa faa 57 Oblin theory of international trade.
() Define multinational enterprise. . CER-RE SREAE S SEhE
7
IS TrmIar e i | o e Sy 4 |
(g Mention one merit of free trade. i () What is international product cycle
T& I8 901 YR Segg 71 theory?
(h) What is protectionism? SRR Beol o wgeo! ¥ 2
STHRm 2
(d) Mention two causes for the downfall of
() Define flexible exchange rate. Bretton Woods system.
RTSTMer RfAT 2w wiswm) fay | Q57 T IGRA o o1 FRA Seard 7971 |
() What is foreign exchange market?
: e) What is financial globalization.
e Rt 1am &9 ”
: A8y e R 2
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(4)

4

3. Answer any four of the following questions :

5x4=20

T IR R @ vifbR Sew fa

(a)

(b)

(c)

@

(e)
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What are the reasons for international
trade? Explain.

RS M FRIER R 2 01 91 |

Discuss the importance of Ricardian

theory of comparative cost in developing
countries.

T CeT R W T SR
AFG DA 91 |

Briefly explain the localization tl'ieory of
international trade.

RS SR wqRT  waghy 12
el 3147 |

Distinguish between free trade and
protection.

T° A we s e Twe ol
Rdfg w11

Distinguish between fixed and flexible
exchange rate.

& o TR R 299 T e o |

( Continued )

24A/484

(%)

() Distinguish between tariff barriers and
non-tariff barriers.
W7 ARITT T AT AT TS N1
AT |

4. Answer any four of the following questions :

10x4=40

oo 2eIRe R e st Tes fam -

(a) Explain the Ricardian comparative cost
theory of international trade.

Ry SRAEE AT TEIEE T SGH
H{ICeoAT 991 |

(b) Discuss. the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the
limitations of Heckscher-Ohlin theory.

10

5+5=10

Rere TIEEe AW TGT HR-SB
TEOR cPel e 11 CFR-SRW

| SGR THREEPTR $EY ¥4 1

(c) State and explain the technological gap
model of international trade.

i AlER KRR Fo o9d Smy
391 SF 0 40
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(d)

| (e)

(9
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(6)

Critically discuss the product-cycle
theory of international trade.

TERT AR T v Gl
TSRS S0 397 |

Compare the effectiveness of tariff
and quota as a weapon of trade
restrictions.

RS [ R — iR
ﬁmcrwwwﬁmmwn

Analyze the effects of tariffs in a partial
equilibrium system_

Wwwmﬁamﬁmqwn

How was equilibrium exchange rate
determined under gold  standarq?
Mention the reasons for the collapse of

10

10

10

the gold standarq, 5+5=10

amwmﬁﬁwmm
ﬁﬁﬁ@?@ﬁ?mmﬁwww
s 3

( Continued )

(h) Discuss the main reasons for the
international financial crisis. What are
the various effects of international

financial crisis? 5+5=10

o RO AT T FAPHR ST
| TR Rem AFHd Rfen aoemz
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